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OMASE O 2|29 XA
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Hu: HAHSH FOIHO £
cHelr A=06t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEREEIERT 8,000 15290 3,600
OABAHBASS SITAF L AR
Saal= 250,00034+6021 15,000
OsHE7Y 2,530 5001 1,265
FolEe IMdy =24 1,215,302 1,277,297 A\61,99%
= 229,288
=S 9,281
s 976,733
ANHSRE HAsALG 32,700 27,100 5,600
207 ARl 17,200 27,100 /9,900
02 MAHHEHI 17,200 12,000 5,200
ONEBREZ| MM 17,200
~XHESHTT FASIAIL
6.,0002!+2,0000H 12,000
—EX0ISZOIA FASIAIY
5002 +8,0000HK 4,000
—QOHHIRAE FAHBHANS
6,000 «2000H 1,200
401 Al HIZL 201 15,500 15,500
01 Al&H| 16,500 16,500
O=IDI=E LH=ZAL 89 15,500
ANHSE del 2 90,363 27,390 62,973
201 er23| 30,930 27,390 3,540
01 AtR2t2|HI 30,270 26,730 3,540
OXNE=T & LRSS SaE 1,650
OXH=E A HE XNHEIIEE T(
&l57) &X 119,000 * 1008 11,900
OXHE =gl 8,000& 38 +80& 1,920
OXFS2HeUE EH 7¢ 2,000
OXES2He ¢EM Rl 1,000
OXIHEQI 80tE M=U3 3,000
OXHs2delEg 2278 & 82 3,000
ONEZBZYE 22 HioIH 72 1,000
OX=BY TH7Y 500
OXEAND s2sa)l |z 2,000
ONEAMD XNHBL 45 L 2FHA 2,300
° BB 660 660 0
OSII&g ¢ E 7Y 660
308 AHXIEMSOIH 59,433 59,433
1 SIS0t AAS A 59,433 59,433
OXHIIEE &AM 59,433
INESFE£1 5,620 45,959 A\40,339
= 5,620
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101 @124H| 4,630 9,000 A4,370
= 4,630
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202 04| 990 0 990
= 990
01 =LHN I 990 0 990
OXIF A 04| 990
= 990
K= THZEALALS 862,951 878,172 15,221
= 9,281
= 853,670
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= 9,281
Ea 69,091
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= 9,281
o 21,919
02 S3=gHl 9,920 9,920 0
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301 2eEN= 700,000 800,000 100,000
14 JIEt2 8= 700,000 800,000 100,000
OXHEAAMNE 283 K= 700,000
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ONASXIA ZEHE AMY 84,579
NETHZEALALE =& 223,668 298,676 AT75,008
= 223,668
201 er23 | 223,668 298,676 AT75,008
= 223,668
01 At22t2l] 223,668 298,676 AT75,008
OXIETHZAALY AL HI 223,668
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I ARBE F0IHO £2
ciel: mate RSzl HEHR COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 31,716
s 49,379
01 At2tltl 81,095 77,491 3,604
OMNESAIXI BE+2 67,104
30|12 53,009
= 21,409
o 31,600
—=AE 13,595
= 5,438
[Ea 8,157
—2IANE & 0l28H 500
OIHESAIXIL ZAH 2E 3,976
= 2,361
o 1,615
OMESAIXIIL MAl =2l 1,408
—&E XA 77,0003 »48¢ A 308
—SETAME ¥ ZEEA
77,0003 #48¢ A 308
—SAXIEE 2 EAE2E Hield
13,2003 60 792
OHNESAIXIL B2 =2 HH
50,0002 *140H*22] 1,400
Ons=oel ez 27,0003 20H 540
OMNLESAIXIIL S ]I
25,0002 402 1,000
ONESAIXIL =HES HuEs 7Y 2,534
—=2H Xl 45,0003 102 450
—=22H 23 50,0002 * 107K 500
-T2 &Y 396, 0002 *4SET 1,584
OFStHASAIAZES deiiz M&
25,0003 #2552 625
OINESAIXIIL ZAF S20HAIH 2,508
= 2,508
202 04| 4,000 7,009 A3,009
= 1,600
Ea 2,400
01 SLHoIH 4,000 7,009 A3,009
OHNESAIXIL 2= 4,000
= 1,600
= 2,400
NASE & & g8 &2 1,466,962 1,380,976 85,986
= 1,173,570
= 146,696
o 146,696
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el J=MeEs8d (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
I=MEed 1,466,962 1,380,976 85,986
= 1,173,570
== 146,696
[Ea 146,696
FA=2 1,466,962 1,380,976 85,986
= 1,173,570
=S 146,696
s 146,696
301 LEtE NS 766,962 730,976 35,986
= 613,570
= 76,696
Ea 76,696
01 Al EE A S (2 RDEXA) 766,962 730,976 35,986
F=H= 766,962
= 613,570
= 76,696
= 76,696
403 MR EHSAHE01H 700,000 650,000 50,000
= 560,000
= 70,000
= 70,000
02 SIS0t = A P E A I 700,000 650,000 50,000
ORI 700,000
= 560,000
< 70,000
s 70,000
HH2LZHI(FHEX D) 58,800 64,416 Ab,616
Jl=23sl 58,800 64,416 N5,616
FHEEX Y J1=2ZH| 58,800 64,416 N5,616
201 et 3| 25,920 25,920 0
01 At22t2l] 25,920 25,920 0
O A0t 20,736
O=<tl SH0at 5,184
202 04l 28,080 33,696 Ab,616
01 =LHAHI 28,080 33,696 N5,616
OsAH &t 28,080
203 =8| 4,800 4,800
04 PAE2EERFAH 4,800 4,800
OFEEXLY 2EMAEE 400,000 123 4,800
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